RESOLUTION NO. 13-49 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER DOUGLAS CLINE ON THE 19th DAY OF APRIL , 1999.
A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE L.P. CAVETT COMPANY FOR THE 1999 CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT FOR THE CITY OF CENTERVILLE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO AN AGREEMENT IN CONNECTION THEREWITH.
WHEREAS, the City of Centerville advertised for bidders for the 1999 Concrete Repair and Asphalt Resurfacing Road Improvement Project, pursuant to the specifications prepared by the City; and
WHEREAS, the L.P. Cavett Company was the low and best bidder.
NOW THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:
Section 1. That the bid submitted by the L.P. Cavett Company for the 1999 Concrete Repair and Asphalt Resurfacing Road Improvement Project for a total cost of \$686,815.53, which includes \$16,480.52 for the Stress Reducing Membrane Interlayer for Marshall Road, is hereby accepted, a copy of said bid marked Exhibit "A" is attached hereto and made a part hereof.
Section 2. That the Council of the City of Centerville hereby authorizes the expenditure of the entire 1999 Road Improvement Project budget of \$750,000.00 to allow for the Normandy Lane work as well as contingency and recommended additional items.
Section 3. That the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.
Section 4. This Resolution shall become effective at the earliest date allowed by law.
PASSED this 19th day of APRIL , 1999.

Sally D. Bials
Mayor of the City of Centerville, Ohio

ATTEST:	
maril me Sawelli	_
Clerk of Council, City of Centerville, Ohio	

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number 13-99, passed by the Council of the City of Centerville, Ohio, on the 1944 day of 1999.

Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney

BID SHEET 1 OF 5

BIDDERS PROPOSAL

CONCRETE REPAIR AND ASPHALT **RESURFACING ROAD IMPROVEMENT PROJECT - 1999**

Concrete Repair and Asphalt Resurfacing Road Improvement Project - 1999

Having read the specifications and examined the drawings included herein:

City of Centerville, Ohio

Removal & Flexible Replacement

unde	ne construction of said project in Cent rsigned hereby propose to fumish all ifications and as shown in the Plans f	materials and to perf	orm all labor, as specified and	
A.	STATEMENT BY ALL BIDDE	RS:	*	16
	The receipt of the following Adder acknowledged.	nda to the Contract D	Ocument (drawings and spec	ifications) is hereafter
	Addenda No Date	•		
•	Addenda No Date	=		5.4 · · · · ·
В.	CONSTRUCTION COST INFO	RMATION (break	down required)	
	The bid shall be broken down as for	ollows and the grand	total shall be the sum of all i	tems.
DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
202	Concrete Pavement Removed, 8 and under	2400 SY	s_9,00	s <u> 21,600.00</u>
202	Concrete Curb Removed	4800 LF	s_5,00	s 34 000 00
202	Concrete Driveway Removed	500 SF	s_1.00	\$ 500,00
202	Curb Ramp Removed	300 SF	s <u>1,00</u>	s <u> 300.00</u>
202	Sidewalk Removed	1800 SF	s <u>, 40</u>	\$ 1630.00
252	Full Depth Rigid Pavement	600 SY	s 30,55	\$ 18,730,00

BID SHEET 2 OF 5

		1		Š.
DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
253	Concrete Joint Milling and Repair	800 LF	s_4.50	\$ 3600,00
253	Pavement Repair	1000 SY	\$ 25,50	\$ 75,800,00
253	Undercutting	20 CY	\$ 40,00	\$ 500,00
254	Pavement Planing with millings to Contractor	42845 SY	s	s 42, 545,00
406	Micro-Surfacing, Surface Course	30000 SY	\$ 1.16	\$ 34,400.00
406	Micro-Surfacing, Intermediate Course	30000 SY	<u>\$_1,13_</u>	s 33.900,00
407	Tack Coat; 0.2 GAL/SY	12000 GAL	s	s 120,00
448	Type 1 Asphalt Concrete, PG 64-22 Medium Traffic, 4" driveway	800 SF	s <u>4.00</u>	\$ 3200,00
448	Type 1, Asphalt Concrete, PG 64-22 Surface, Medium Traffic, 1" to 1 1/4"	1947 CY	s 27,15	s 52,861.05
448	Type 2 Asphalt Concrete, PG 64-22 Intermediate, Medium Traffic, 34"	1287 CY	s_27.15	s 34, 947, 05
452	Concrete Pavement, 7" thick	2400 SY	\$ 25,00	\$ 67,200,00
452	Concrete Driveway, 6" thick	400 SF	s_ 4,50	\$ 1400.00
452	Concrete Driveway, 8" thick	100 SF	s_ 5,50	s 550,00
603	12" Pipe Rebuilt	32 LF	\$ 70,00	s_7240,00
603	12" Pipe Replaced	64 LF	s_ 60,00	s_3540,00
604	Major Catch Basin Repair	44 EA	s_ 575,00	\$ 25 700,00
604	Major CB Repair with 1 pipe section	2 EA	\$ 300,00	s 1600.00
604	Minor Catch Basin Repair	38 EA	s 450,00	s 17.100.00
504	Minor CB Repair w/ 1 pipe section .	2 EA	s_675.00	s 1350:00
504	Catch Basin, Type D Rebuild	14 EA	s_700,00	\$ 9400,00

BID	SHEET	3 OF 5
-----	-------	--------

		3			
	DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
	604	Manholes Adjusted to grade	40 EA	s_140,00	S_7200.00
	604	Water Valves Adjusted to grade	20 EA	\$ 60.00	s 1200.00
	605	4" Underdrain under grass	1000 LF	\$_4,00	s_4000,00
	605	4" Underdrain under driveways	250 LF	s	s_4000.00
	608	4" Sidewalk - concrete	1800 SF	\$ 3,75	s_6750.08
	608	6" Curb Ramps - concrete	300 SF	s <u>4,00</u>	s 1200,00
	609	Concrete Curb and Gutter - replaced	_ 4800 LF	s_ 12.00	s 57,600.00
	614	Maintaining Traffic	LUMP SUM	s <u> 14,500.00</u>	s 14.500,00
	621	Raised Pavement Markers, R/M And Dispose	135 EA	s_ 5,00	s 675,00
•	621	Raised Pavement Markers, Furnish And Install	135 EA	s 37.75	s 4492.80
	632	Loop Detector, Replace in kind (Virginia Ave @ W. Franklin)	1 EA	s 925.00	s <u>935.00</u>
	642	DY Centerline (TWLTL)	0.56 LM	s 70800	s 396.45
	642	Laneline, 4" White	2.02 LM	s_349,00	s 704,98.
	642	Chanelizing line, 4" White	1585 LF	5,45	s 713,75
	642	Word 'ONLY'	3 EA	s 55,00	s 165,00
	642	Arrows	4 EA	s 45.00	s 190,00 ·
	644	STOP Line	110 LF	s_ 5.43	s 657.30
	644	Crosswalk Line	300 LF	s_3,43	s 1149.00
	825	Crack Seal	18000 LBS	s,74	s 13, 320,00
	825	Crack Seal, Maintenance on Major Thoroughfare	12000 LBS	s <u>,74</u>	s 4440.00

BID SHEET 4 OF 5

DE	ESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
82	5 Crack Seal, Maintenance on Bigger Road	6000 LBS	s <u>.74</u>	s_4440,00
Sp	ec Geotextile Joint Fabric	19000 LF	s <u>.41</u>	s <u>15,390,00</u>
		GRAND TO	TAL - ALL ITEMS	s 582, 531, 91
<u>PC</u>	SSIBLE ALTERNATE OR ADDITIO	NAL ITEMS		,
Sp	ec SAMI, Type I (see note below) (Marshal Road)	11606 SY	s <u>1,42</u>	s 16,480,53
Sp	ec SAMI, Type 1 (see note below) (Rose Estates area)	18919 SY	s_1,42	s 26,464,94

Note: The SAMI, Type 1 alternate may be exercised by the City. The SAMI product would be used in lieu of the Geotextile Joint Fabric on the concrete streets in the Rose Estates area and/or added to the work on Marshall Road after the grinding and pavement repair work is completed and prior to the asphalt paving. Addition of this work is dependent on prices received.

ALTERNATE BID ITEMS: (These items will be used on an as needed basis only.)

DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
DESCION HON	QUMITITI	OIVII IEMOOMI	TUTOOTT
253A Pavement Repair - Special Type A - Montgomery County water main cuts	164 SY	\$ 53,00	s 9512.00
253A Pavement Repair - Special Type B - Montgomery County water main cuts	25 SY	\$ 60.00	s <u>1500,0</u> 0
254 Pavement Planing w/millings to City	42845 SY	s1.34	s 59 554.55
448 Type 1, Recycled Asphalt Concrete PG64-22, Surface, Medium Traffic	• Overes 14 in 142 and	s_ 26.60	s <u>51,790</u> ,76
448 Type 2, Recycled Asphalt Concrete PG64-22, Intermediate, Medium T		s 26.60	s 34,234. 20

•	COLENY	MONTON I MAN TO THE OWNER OF THE OWNER O	12
U.	COMPL	ETION DATE INFORMATION	V.

The bid price reflected above represents a completion date of August 27, 1999 except for Items 253A which
require a June 30, 1999 completion date and Maintenance Crack Seal and Residential Streets which requires
a June 30, 1999 completion date. If an alternate completion date is proposed, it shall be specified hereafter.

a June 30, 1999 completion date and Maintenance Crack Seal and Residential Streets what a June 30, 1999 completion date. If an alternate completion date is proposed, it shall be specified	ich re :d her	qui eafi	res ter.
ALTERNATE COMPLETION DATE	4		2:
CONTRACT PREPARATION INFORMATION			

The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.

NAME OF COMPANY/CORPORATION: L. J. CAUELL CO.
NAME OF PRESIDENT: MARK SHALLY
ADDRESS: 600 SHEPHERD AVE.
CITY, STATE, ZIP EINCHNALI, OHIO 45215
FEDERAL TAX I.D. #: 31-0521486
TELEPHONE #: 5/3 - 554 - 0400
FAX#: 5/3-559-8/60

NOTE:Failur	re to sign proposal shall result in rejection of bid.
881	THIS PROPOSAL SUBMITTED BY: L.P. CAVELLCO
	(NAME OF CONTRACTOR)
	BY: Colort S Mount 1. F.
	(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
	DATE: 3/3//99
	Contact person for Contract processing: Robert L Moust
- •	Mailing address if different from above:

D.